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ABC-

ADC

ADC = ACD

 AC = AD 

AB – AC = AB – AD = BD = d 

ABC-

BC = a, AB – AC = d ABC = x 

ABC-

a 

d 

 

BE a = BC 

C BE FG 

CG d = CD 

B, D BD B CDB DBA

BA CF A 

ABC-

ABD-

ABD = ADB  

 AD = AB 

AB – AC = AD – AC = CD = d 

ABC

AB – AC = d, BC = a ACB = 

 ABC-

 6  10

x y

7

  11bs cª‡kœi mgvavb   

6

10

 =  + (  

  =  −  

  = 102 − 62 

  = 100 − 36 = 64 = 8

 8

8
10

6
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6

10

BE BC = 6

B BC BD

C  10 BD CA

BD  A

C, A

ABC-

x y

7

a 

x 

7

y 

B 

Q P 

C 
E 

7

A 

BE PC = 7

B CBP = x C BCQ = y

BP CQ A

ABC

 x y P 

  12bs cª‡kœi mgvavb   

x y 

1

2
 x 

1

2
 x 

p 

1

2
 y 

1

2
 y 

H 

A 

G 

D B P C E F 

P x y

DF p DE

D E DE
1

2
x

EDG
1

2
y DEH

DG EH A

A ADE AED DAB EAC

AB AC DE B  C

ABC

L 

T 
N 

M 

S 

b 

a 

ABC BC = a AB = 

b a b LMN

 MT

M SM ⊥ MT MS  b

ML = b

 L a MT

MT N

L, N LMN-


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P = 10 

x = 60 y = 45 

p

x y

h = 4 

x y

  13bs cª‡kœi mgvavb   

P 

x y 
60 45 

10 

p, x y

A 
G 

M 

E 
F 

C B 
D 

L 
H 

x 

p

x y

DF P DE

D E DE x

EDL y DEM

DG EH

DG EH A A

ADE DAB AED

EAC

AB AC DE B C

ABC-

ADB- ADB = DAB 

 AB = DB  

  ACE AEC = EAC  

   AC = CE 

   ABC AB + BC + AC = DB + BC + CE = DE = P = 

10 

ABC = ADB + DAB = 
1

2
 x + 

1

2
x = x = 60 

  ACB = AEC + EAC = 
1

2
y + 

1

2
 y = y = 45 

   ABC-

A 

C B N 

Q 

E 

x 

P 

M 

60 45 

h 
4 

x y 

y 

h 

h = 4 x y

BN B BN⊥BM B

y NBE

BM h BP P

PQBN PQ, BE A

PQ A x QAC AC, 

BN C ABC-

PQBN AC

 ACB = CAQ = x ABC = 

BP = h 

   ABC- B = y, C = x = h

ABC-

 a x = 50 y = 30

a

x y  a

a

x y

  14bs cª‡kœi mgvavb   

50 30 a 

F E 

A 

B D 
C a 

y x 
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BD a 

BC B C  CBE = x

BCF = y

 BE CF A

ABC-

Q P 

M N 
C D B 

d 

y 
x 

A 

x y

a

AD = a AD A D

PAQ MDN

PQ A x = PAB y = QAC 

AB AC MN B C 

ABC

 6 10

5

  15bs cª‡kœi mgvavb   

6

10

−

102−62  

 100 −36  =  64 = 8

Ans. 8
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10 cm 
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6

10

BE BC = 6 

B BC BD

C 10 BD CA

BD A 

C, A

ABC-

5

5
a 

A C 

T N 

R 

P M 
Q 5 

PM PQ = 5

P QPN = A Q PQT = C

PN QT R PQR-

 a 32 x = 30

y = 60

y a 

a x y

  16bs cª‡kœi mgvavb   

a 

x y 

3.2 

30 60 

a = 32

x = 30 y = 60
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a 

x y 

3.2 

30 60 

x x 
y 

y 

D 

E 

G 

F 

A 

C a 

x = 30 y = 60 y

a = 32

BD a BC

 BC B C x

CBF DCE

CE  C BC B

y ECG

CG BF A ABC

ABC = ECD

BA ║ CE AC

 BAC = ACE = y 

 ABC BAC = y, ABC = x BC = a 

 ABC

30 60 
x 

P Q 

y 

a 
3.2

A 

x y 

N M 
B C D 

G 

a = 32

x = 30 y = 60

AG AD = a

AD A D PAQ MDN

PQ A PAB = x QAC = y

AB AC MN B C

ABC-

PQ MN AD

ABC = PAB = x ACB = 

QAC = y ABC- ABC = x, ACB = y

AD = a 

  ABC
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Abykxjbxi cÖkœ I mgvavb 


63 36 30 70  40 50 80 20 

 

40 + 50 = 90 

 i. ii.

iii. 

 i ii i iii ii iii i, ii iii 

 iii.

 

3 
4 

O 

B A 

C D 

 AOB
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 6  7  

12  14 

 COD = 90 AOB = 90 

   AOB
1

2
  3  4 = 6



12  14  20  28 

 COD = 90 AC  BD 

ABCD

 COD

CD2 = CO2 + OD2 

  CD = 42 + 32 = 16 + 9 = 25 = 5 

   AB = BC = CD = AD = 5 

   ABCD 4  5 = 20 

3 35 25 3

45

 
x 

y 

p 

q 

B 

C 

A D E 

x 

z 

z 

q 

p 

y 

45

45 

3

3·5

3

2·5

F 

x, y, p, q 3 35 25

3 z = 45

AE y AD AD 

A z DAF

AF †_‡K x AB 

B D p q 

BAD

C 

B, C C, D 

ABCD-

ABCD AB = 3 BC = 25

CD = 3 AD = 35 BAD = 45

ABCD-

35 4 25 35

5

e 

a 
b 
c 

d 

A 

C 

E B e 

d c 

a b 

D 

5

3·5

4

2·5

3·5

a = 35 b = 4 c = 25

d = 35 e = 5 a + 

b > e c + d > e

BE e BD

B D a b BD

A

B D d c

BD A

C

A B, A D, B C C D ABCD-

AB = a, AD = b, BC = c, CD = d BD = 

e  ABCD-

32 3 35

28 45

a 

b 

c 

d 

e 

A E 
B 

D 
C 

c 
b d e 

a 

32 

3 

35 

28 

45 

a = 32 b = 3 c = 

35 d = 28 c = 45 

AE AB = a = 32 

A B c = 35 d = 28

AB

D D, A D, B

A B e = 45 b = 3 

AB

C (C, A), (C, B) (C, D) 

ABCD-
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AB = a = 32 BC = b = 3 AD = 

c = 35 AC = e = 45 BD = d = 28 

ABCD-

3 35 4

60 45

a 
b 
c 

E x y 
60 45 

F 

C 

a 

A 

D G 

3

3.5

 4 

 

x y 

b 

B c 

a = 3 b = 35 c = 4

x = 60 y = 45

BE BC = c 

BC B C x y CBF

BCG

BF b BA CG

a CD

A, D ABCD-

AB = b, BC = c, CD = a, 

 ABC = x BCD = y 

ABCD-

4 65

45

a 
b 

E 

x 
45 

P 

4  

6·5  

Q 

C 
A 

x 
a 

b 

B 

D 

O 

1

2
b 

1

2
b 

a = 4 b = 65

x = 45

AE a AC

AC O

O x AOP OP

OQ OP OQ
1

2
 b OB

OD

A, B; A, D; C, B C, D ABCD-

AOB COD OA = OC = 
1

2
 a, OB = OD = 

1

2
 b    

 

AOB = COD

AOB  COD 

AB = CD 

ABO = CDO; 

 AB CD

AD BC

ABCD

AC = AO + OC = 
1

2
 a + 

1

2
 a = a  

BD = BO + OD = 
1

2
 b + 

1

2
 b = b  

AOB = x 

ABCD-

5 65

30

a 
b 

E 

x 
30 

P 5  

65  

Q 

A 
x 

a 
b 

B 

C 

D 

O 1

2
 b 

1

2
 b 

a = 5 b = 65

x = 30 

AB a AC

AC O

O x AOP OP

OQ OP OQ
1

2
 b OB

OD

A, B; A, D; C, B C, D ABCD-

AOB COB OA = OC = 
1

2
 a, OB = OD = 

1

2
 b    

AOB = COD

AOB  COD 

AB = CD 

ABO = CDO; 

 AB CD

AD BC

ABCD
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AC = AO + OC = 
1

2
 a + 

1

2
 a = a  

BD = BO + OD = 
1

2
 b + 

1

2
 b = b  

AOB = x 

ABCD-

4 5 65

b 
c 

E 

D 
5  

65  

B 

a 4  

A 

F 
G 

C 

O 

a = 4

b = 5 c = 65

b c

AE a AB

A B
b

2
 

c

2
 AB

O

A, O B, O

AO AF BO BG OF
b

2
 

= OC OG
c

2
 = OD 

A, D; D, C B, C

ABCD

AOB COD OA = OC = 
b

2
 ; OB = OD = 

c

2
   

 

AOB = COD 

 AOB  COD 

 AB = CD ABO = ODC; 

 AB CD

AD BC

ABCD-

5 45 6

b 
c 

E 

D 
6  

4·5  

B 

a 5  

A 

F G 

C 
O 
a 

a = 5

b = 6 c = 45

b c AE

a AB

A B
b

2
 

c

2
 AB

O

A, O B, O

AO AF BO BG OF
b

2
 = OC 

OG
c

2
 = OD 

A, D; D, C B, C

ABCD-

AOB COD OA = OC = 
b

2
 ; OB = OD = 

c

2
    

AOB = COD 

 AOB  COD 

 AB = CD ABO = ODC; 

 AB CD

AD BC

ABCD-

ABCD AB BC B, C D

G 

a 

F 

b 

a 

b 

ABCD BC = b AB = a 

B  C D

BE BC = b 

B C B C CBF

BCG BF AB = a 

A BAD = D AD CG D 

ABCD-

ABCD BC = b; AB = a 

CBA = B  BCD = C

BAD = D 

 ABCD

ABCD 

OA = 4 OB 

5 OC = 35 OD = 45 AOB = 80





5

3.5

4.5

80 

A

O B

E

O

C

F

D

A

G

O

O

O

O

80 

B

C

D

A

B

4.5

3.5

5
4

4

 
ABCD

OA  4 OB = 5 OC = 35 OD = 45

AOB = 80

AE AE 4

AO 35 OC 

AO O AOB AOF OF

OG

OF 5 OB OG 45

OD 

A, B; B, C; C, D A, D 

ABCD 

ABCD AC BD AC BD 

O 

OA = 4 OB = 5 OC = 35 OD = 45

AOB = 80

 ABCD-

35 45

x 

A 

B 

D 

C x 

x 

x 

q 

x 

E 

F q 
45 

35  

x 35 

q 45

AE AE x AD 

AD A q DAF AF x 

AB 

B D x A

C 

B, C C, D 

ABCD 

ABCD AB = BC = CD = DA 

 

A = C  B = D 

A + D = 180

D = 180 − A

D = 180 − 45 = 135 A = 45

 A = C = 45 B = D = 135

ABCD 

ABCD 

AB = BC = CD = DA 35 A = 45

 ABCD-

a 

e 

B 

A D 

E 

C 

a 

a e a 

a 

a e 

BE e BD 

B a  BD 

D BD 

A C 

A B, B C, C D D A 

ABCD-
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AB = BC = CD = DA = a BD = e 

AB  CD BC  AD 

ABCD 

p 

q 

G 
D 

E 

H 
C 

O 

q 

A 

p 

B 

p q 

BE p BD 

BD O GH 

O q BD 

GH A 

C 

A B, B C, C D D A 

ABCD

AB = BC = CD = DA 

OB = OD, OA = OC 

AOB = BOC = COD = DOA = 

ABCD-

A E 
D 

B 
C 

F 

P 
P1 P2 

P

4
 

P

4
 

P

2
 

 

p

p p2 p2 p1 

→
AE 

P

4
  AD 

A AF AF AB = AD B D 

AB AD A

C 

C B C D 

ABCD 

ABCD 

AB = BC = CD = DA = 
1

4
  p A = 1 

 ABCD

10 8

4 3 300

10 8

A B A B 

F E D C 

10 10

88

ABEF ABCD

D E C F 

A B 

(ABEF

(ABCD AB-

AB CE-

BCE BC, 

 BCE- BC > BE  
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 = 2(AB + BE) 

  = 2AB + 2BE 

 = 2(AB + BC) 

  = 2AB + 2BC 

 BC > BE 

 2AB + 2BC > 2AB + 2BE 

 

= 4 3 

 = 4x

= 3x 

 = (4x . 3x) 

= 12x2

12x2 = 300 

  x2 = 
300

12

x2 = 25 

  x = 25

 x = 5 

= (4  5) 

= 20

(3  5) 

= 15 



ah

= (20  15)

= 300

D 

a 

C 

h 

A B 

 300 300 

  = 1 1

5 4

 

5 4

5
2
 = 4

2
 

25 = 16

25 − 16 

   = 9 

   3 = 3

 3

b 
c 

E 

5  

4  

C 

a 3   

B a 

b 

c 

A 

D 

b = 5 c = 4

a = 3

BE a BC

BC B CBD = 90 

BC B C c b

BD A

A, C ABC-

ABC- AB + BC + AC 

  = 4 + 3 + 5 

  = 12 



P 
= 12

B E 
C 

D 

F 

A 

p

4
  

p

2
  

BE
1

4
 P BC

BC B BF BF
1

4
 P

BA

A C
1

4
 P

ABC D

A, D C, D ABCD

ABCD AB = 4 BC = 5 A = 

85, B = 80 C = 95. 
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D 

ABCD

 

B = 80

ABCD A = 85, B = 80 C = 

95 

360 

 A + B + C + D = 360 

  85 + 80 + 95 + D = 360 

  260 + D = 360 

  D = 360 − 260 

   D = 100 

AB
4 

5 
BC

A = 85

B = 80

C = 95

F

A

H

G

D

E
CB

80 95

85

4
 

5 

AB = 4 BC = 5

A = 85, B = 80 C = 95

BE BC = 5

B C B C CBF

BCG

BF  BA = 4 A A

BAH

AH CG D

ABCD

AB = 4 BC = 5

ABC = 80, BCD = 95, BAD = 85 

 ABCD

a
4 

5 
b

B = 80

F

A

G

a

E
CB b

b

a

a = 4 b = 

5 B = 80

BE BC = b

B EBF = B = 80 BF a

BA

A C b a

ABC D

A, D C, D ABCD

A, C ABC ADC

AB = CD = a 

      AD = BC = b AC

ABC  ADC. 

 BAC = DCA;

 AB || CD 

 BC || AD. 

 ABCD

ABC = B = 80 

 ABCD  
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 a x
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M x = 180 N x = 200
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O 

ABCD BOC = 

 90 L 60 M 45 N 35

 PQRS Q = 100 R =
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   R = 
360 − 200

2
 = 
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2
 = 80 

 

D 

A B 
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A 

B C 

D 

K AO = AB  BO = DO M CO = DC N BO = BC

BD

O BO = DO 

   enyc`x mgvwßm~PK enywbe©vPwb cÖ‡kœvËi 

 

 i.  ii. 

iii. 

K i ii  i iii M ii iii N i, ii iii 

 

 i.  

ii. 

iii. 
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 i ii L i iii M ii iii N i, ii iii 

 
S R 

P Q 

O 

PQRS −

 i.  PR = SQ PO = RO

ii. PQ  PS

iii. PR PQ PQRS

K i ii L i iii M ii iii  i, ii iii 

 

 i.  

ii. 

iii. 

K i ii L i iii  ii iii N i, ii iii 

 

D C 

A B 

3 

4 

 i.  ABD BCD

ii. ABD 6 

iii. BD ABCD

K i ii L i iii M ii iii  i, ii iii 

 

 i.  ii. 

iii. 

 i ii L i iii M ii iii N i, ii iii 

 

 i.  

ii. 

iii. 

K i ii L i iii M ii iii  i, ii iii 

   Awfbœ Z_¨wfwËK enywbe©vPwb cÖ‡kœvËi 

 −

A 

O 

D 

P 

C 

B 

3

4

ABCD P PB = 4 OP = 3

OP ⊥ AD  

 OD  

K 2 L 5  7 N 13 

BP = DP = 4 OP ⊥ AD 

   OD2 = DP2 − OP2 = 42 − 32 = 16 − 9 = 7 

   OD = 7 

 AD =  

K 2  2 7 M 3 3 N5 3

AD = AO + OD = OD + OD = 2OD = 2  7 = 2 7 

 AB =  

K 3 L 4 M 5  6

AB = 2  OP = 2  3 6 

  

K 2 + 3  L 2(2 + 3)  

 4(3 + 7)  N 4(5 + 3) 

2(AB + AD) = 2(6 + 2 7) = 4(3 + 7)

 −

A B 

84 

48 

D C 

x 

 

 BCD-

K 80  96 M 115 N 120

 x 

 48 L 52 M 55 N 58

 BAD-

K 140  132 M 126 N 120

 −

y 

D C 

5x + 4 

 
A B 

O 

 

 ABDC

 x-

 4 L 7 M 12 N 18 

 y-

K 28  24 M 21 N 15 

 ABDC-

K 72  96 M 210 N180 

 K L

 N





 

K L

M 

 

 360 L 180 M 270 N 90

 

 180 L 90 M 360 N 120

 ABCD O AOD = 

K 120 L 160  90 N 180

 

 L

M N

 28 4 : 3

K 4 L 6  8 N 12

 

K 90 L 270 M 180  360

 

 1 L 2 M 3 N 4

 

 1 L 2 M 3 N 4

 

K  M N

 

K  M N

 

K L

 N

 −

K



M

N

 

K L M 

 

K L M 

 −

 i.

ii.

iii.

K i ii L i iii M ii iii  i, ii iii 

 −

 i.

ii.

iii.

 i ii iii L ii iii M i iii N i 

 i.

ii.

iii.

 i ii L i iii M ii iii N i, ii iii 

 

 i.

ii.

iii.

K i ii  i iii M ii iii N i, ii iii 

 −

A B 

D C 

O 

 

 ABCD AC BD O

 A + B =   

 180 L 270 M 150 N 360

 ABCD   

K  M N

 ABCD AC = 5, AB = 4 ABCD

  

K 6 L 18  12 N 20

   enyc`x mgvwßm~PK enywbe©vPwb cÖ‡kœvËi 

 

 i. 40 50 

ii. 120 60 

iii. 60 30 

 i ii L i iii M ii iii N i, ii iii 

 

 i.
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ii.

iii.

K i ii  i iii M ii iii N i, ii iii 

 

 i.

ii.

iii.

K i ii L i iii  ii iii N i, ii iii 

 

 i.

ii.

iii.

 i ii L i iii M ii iii N i, ii iii 

 

 i.

ii.

iii.

K i ii L i iii  ii iii N i, ii iii 

 

 i.

ii. 180 

iii.

 i ii L i iii M ii iii N i, ii iii 

 

 i.

ii.

iii.

K i ii L i iii  ii iii N i, ii iii 

   Awfbœ Z_¨wfwËK enywbe©vPwb cÖ‡kœvËi 


A 

B C D 

120 

   

K ACD = ACB + ABC 

 ACD = ABC + BAC 

M ACD = BAC + ACB 

N ACD = ABC

 ABC + BAC =   

K 60 L 100  120 N 90

 −

A 

B C E 

60 50 

D 

 BAC = ?  

K 50 L 60  70 N 90

 ADB = 30 BAD = ?  

K 25  30 M 35 N 40

 AEC = 25  CAE =   

 25 L 30 M 40 N 45

 
¸iæZ¡c~Y© m„Rbkxj cÖkœ I mgvavb 
 

 P = 12 x = 50; 

y = 70. 

P

2
, 

P

3
 

P

2
 

x, y 

  1bs cª‡kœi mgvavb   

 a  4a = 12 

   a = 3

 a2 (3  3) 

9 (Ans.) 

 3 

F 

C 
a 

a 
a 

A 
B 

E 
a 

D 

a 
3

a = 3
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AE a = 3 AB

A AF AF a AC

C  B a BAC

D C, D B, D

ABDC-



a 

b 

x y 
70 50 

p

2
 = 6

p

3
 = 4

D C 

Y Z

X 

A

X B

X 
E

x x y b 

b y 

a = 
P

2
 = 6 b = 

P

3
 

= 4 a  b a = 
P

2
 x = 

70 y = 50

AX AB = a B A 

x BAY B y ABZ 

AB AE = b E 

BC || AY BZ C CD || BA

CD AY D ABCD

m„Rbkxj cÖkœ I mgvavb 

 p

p

4

x

  2bs cª‡kœi mgvavb   

p 

p

4
  

p

2
  

p p-

p- p-

p

2

p

4
 

p

F 

A 

B C 
E 

D 

p

4
 p

4
 

p

4
 

p

4
 

BE BC = 
p

4
 

BE B EBF = 90

BF BA = 
p

4

A C
p

4
EBF

D

A, D C, D

ABCD

a 

X 

x 

D 
C 

B Q P E 
A 

a = p x 

( ) AE a AP

AP Q

AQ = 
1

2
a 

 AQ B AB = 
1

4
a

   AB A BAX = x AX

AD = AB = 
1

4
a





B D AB = 
1

4
 a BAD

C

B, C D, C ABCD-

 ABCD 4 5

55 6 45

ABCD

  3bs cª‡kœi mgvavb   

PQRS

S R 

P Q 

A 

Y 

D d 
a 

c 

C B b 

a 

b 

c 

d 

4

5

5·5

6

45 

X 

45 

ABCD a = AB = 4

b = BC = 5 c = CD = 55 d = AD = 6

 B = 45

BX BC = 5

B YBC = 45 BY AB 

= 4

A C ABC d c 

D

A, D C, D

ABCD-

20·5
p

4
P

T

H G

E F X

ABCD P = 4 + 5 + 55 + 6 = 205

EFGH

EX EF = 
20.5

4
 = 

P

4
 

E ET ⊥ EF ET EH = 
P

4

F  H
P

4
FEH

G

G, H F, G

EFGH

 a b x

b

a

  4bs cª‡kœi mgvavb   

x 

a 

b b

2

a b x b

A 
C 

E 

D 

Q 

O 

P 

B 

x 

a b 

x

AE a AC 

AC O O x 

AOP

OP OQ

OP OQ
1

2
 b OB OD 

A,B; A,D; D, C; C, B 





ABCD-

A 
B 

E 

C 

F G 
D 

a

AE AB = a 

AB A B AG BF 

A B AG BF a 

AD BC 

C D 

ABCD-

 a b x y

a = 6 b = 4 x = 60 y 

= 90

a b

x

a b

a x y

  5bs cª‡kœi mgvavb   

60 90 

a, b, x y

a b

x

AE a AC AC

O

O x AOP OP

OQ

OP OQ
1

2
b OB OD

A, B; A, D; C, B C, D

ABCD-

AOB COD- OA = OC = 
1

2
a,  

  OB = OD = 
1

2
b 

  AOB = COD 

   AOB  COD 

   AB = CD 

  ABO = CDO; 

 AB CD

AD BC

 ABCD

AC=AO+OC= 
1

2
a + 

1

2
a=a 

  BD = BO + OD = 
1

2
b + 

1

2
b = b 

  AOB = x 

  ABCD-

90 

a b

a x y

AP AB = a

AB A B x y

BAF ABQ

AB AE = b E ECAF EC, 

BQ C

AF AD = EC C, D

ABCD-

AD = EC ADEC 

   AECD 

 CD = AE = b CDAB, AB = a, BAD = x, ABC 

= y 

   ABCD-



a 
35

b 
45 45

 





a b

a x

  6bs cª‡kœi mgvavb   

a = 35 

b 

35 

45 
b

a

A

B

C

D
E

BE b BD

B a BD

D a BD

A

C

 A  B, B C, C D D  A

ABCD-

a = 35 x = 

45 

a 

35 45 45 

BE

BE a BC

BC B x CBF BF a

BA BF A

A C a CBF

D

A D, C D

ABCD-

 a = 4 b = 6

x = 45

a b x

a b

  7bs cª‡kœi mgvavb   

a 

b 

4

6 45 x 

a = 4 b = 6

x = 45

a 

b 

4

6
F

A D

EB
C

a

b

a

b

x

x 45

a = 4 b = 6

x = 45

 BE BC = b 

B x EBF 

 BF a BA

 C  A a b

ABC D

A, D C, D ABCD

AB = CD = a = 4 , BC = AD = b = 6

ABC = x = 45 ABCD-





6

4

6

4

E
C

B

DA

64
a b

a = 4 b = 6 ABCD

A, C

AC = 72 AC = 72

PQRS

7
.2

P
S

R
Q

7.2

7.2

7
.2

 
 
 

m„Rbkxj cÖkœe¨vsK DËimn 
 

 P = 10

P

45

 

P = 10

 x y P

x

P 

 ABC B = 60 C = 45 8

B C

 



 ABCD

OA = 4  OB = 5

OC 35 OD = 45 AOB = 90

AB

ABCD

AB = 64 



 3 35 4

75 30

ABCD

75 30 6

 a b c

a





4

 

16 32

Aa¨vq mgwš^Z m„Rbkxj cÖkœ I mgvavb





 

5 8 45

  15bs cª‡kœi mgvavb   


a 

b x 
45 

5 

8 



B 
C 

E 

N 
M 

A 

D 

F 

a, x = 45

b

BE a BC

BC B x CBF

BF b BD

C, D

CD MN

MN BD A

AC ABC


M 

A 

B 

C 

N 

E 
D O 

a b x 

= 45

BE a BD

BD O

O BOM = x

OM ON

OM ON OA = 
1

2
 b OC = 

1

2
 b

A, B; B, C; C, D A, D ABCD

   

 

P 

Q R 
S 

3

  

PQR–  PS 

PQ + PR  2PS.

PS 

  16bs cª‡kœi mgvavb   

P 

Q R 
S 

3

PQR–  PS 

 PQ  PR M N. R, M  Q, N 

RM  QN–

P 

Q R 
S 

L 

 PQR–  PS

PQ + PR  2PS.

 PS  L  SL = PS  R, 

L

PQS  PSL–

QS = SR  S, QR–





  PS = SL  

PSQ  RSL   

 PQS  RSL 

PQ = RL .............. (i)   

 PRL–  

   PR + RL  PL 

 

  PR + PQ  SL (i)  

  PR + PQ  PS + SL  

  PR + PQ  PS + PS  

   PQ + PR  2PS (   

 PS–  = 3 

 PS– = (2  3)  6

 6

A D 

C B 

F 

6

6 E 

 a = 6 a

 BE a = 6 BC 

BC–  B  BF

B BC BF  BA

A  C BC  ABC

 D

A, B  C, D  ABCD–

 5  3 

  17bs cª‡kœi mgvavb   

x

 52 = 32 + x2 

 x2 = 52 − 32 

 x2= 25 − 9 

 x2 = 16

x  = 16 

 x = 4 

  4

5

3

7

a

b

c

E

D
Cb

B

ac

A

a = 5 

b = 4 c = 3 

BD BC = b = 4 

BC B BE 

BA = c = 3 

A C 

ABC-

ABC 

= AB + BC + CA  

 = c + b + a 

 = (3 + 4 + 5) 

=12 

ABC-

 12 

 d = 
12

4

 d = 3

A D 

C B 

F 

d 

d 

 d = 3

BE BC = d = 3

BC B BF BF BA 

= d = 3 

A C d = 3 ABC 

D

A, D C, D 

ABCD-

 p = 9





p

p

  18bs cª‡kœi mgvavb   

p

A 

D B 
C 

P 
1

3
 

P 
1

3
 

P 
1

3
 

p

BD BC = 
1

3
P 

B C
1

3
 p BC

A

A, B A, C ABC-

ABC- AB = BC = AC

AB + BC + AC = p = 9

ABC-

p 
1

4
 p 

1

4
 p 

1

4
 p 

1

4
 

p 

B 
E 

C 

D 

M 

A p 
1

4
 

p 
1

4
 p 

1

4
 

p 
1

4
 

x 

9

p = 9

p

BE
1

4
 p BC

BC B BM ⊥ BC

BM BA = 
1

4
 p A C

1

4
 

p ABC

D

A, D C, D

ABCD

ABCD AB = BC = CD = AD ABC = 

 ABCD

AB + BC + CD + AD = p = 9

 ABCD


